John Barnard Steven Lund USPAS January 12-24, 2020 San Diego, California

II. Envelope Equations

Paraxial Ray Equation

Envelope equations for axially symmetric beams

Cartesian equation of motion

Envelope equations for elliptically symmetric beams

John Barnard Steven Lund USPAS 1/2020

Roadmap:

Single particle equation with Lorentz force $q(E + v \times B)$

Make use of:

- 1. Paraxial (near-axis) approximation (Small r and r')
- 2. Conservation of canonical angular momentum

3. Axisymmetry f(r,z)

Paraxial Ray Equation for Single Particle

Next take statistical averages over the distribution function

 \Rightarrow Moment equations

Express some of the moments in terms of the rms radius and emittance

 \Rightarrow Envelope equations (axisymmetric case)

Some focusing systems have quadrupolar symmetry Rederive envelope equations in cartesian coordinates (x,y,z) rather than radial (r,z) Start with Newton's equations with the Lorentz force:

$$\frac{d\underline{p}}{dt} = q(\underline{E} + \underline{v} \times \underline{B})$$

In cartesian coordinates this can be written:

$$\frac{d(\gamma m \dot{x})}{dt} = \gamma m \ddot{x} + \dot{\gamma} m \dot{x} = q(E_x + \dot{y}B_z - \dot{z}B_y)$$

$$\frac{d(\gamma m \dot{y})}{dt} = \gamma m \ddot{y} + \dot{\gamma} m \dot{y} = q(E_y + \dot{z}B_x - \dot{x}B_z)$$

$$\frac{d(\gamma m \dot{z})}{dt} = \gamma m \ddot{z} + \dot{\gamma} m \dot{z} = q(E_z + \dot{x}B_y - \dot{y}B_x)$$

In cylindrical coordinates: (use $\frac{d\hat{e}_r}{dt} = \dot{\theta} \ \hat{e}_{\theta}$ and $\frac{d\hat{e}_{\theta}}{dt} = -\dot{\theta} \ \hat{e}_r$) (see next page).

$$\frac{d(\gamma m \dot{r})}{dt} - \gamma m r \dot{\theta}^2 = q(E_r + r \dot{\theta} B_z - \dot{z} B_\theta) \tag{1}$$

$$\frac{1}{r}\frac{d(\gamma mr^2\dot{\theta})}{dt} = q(E_{\theta} + \dot{z}B_r - \dot{r}B_z) \tag{II}$$

$$\frac{d(\gamma m \dot{z})}{dt} = q(E_z + \dot{r}B_\theta - r\dot{\theta}B_r)$$
(III)

In general
$$\underline{E} = -\underline{\nabla}\phi - \frac{1}{c}\frac{\partial\underline{A}}{\partial t}$$
 and $\underline{B} = \underline{\nabla} \times \underline{A}$
When $\frac{\partial}{\partial\theta} = 0$: $\underline{E} = \hat{e}_r \left[\frac{-\partial\phi}{\partial r} - \frac{\partial A_r}{\partial t}\right] + \hat{e}_\theta \left[-\frac{\partial A_\theta}{\partial t}\right] + \hat{e}_z \left[\frac{-\partial\phi}{\partial z} - \frac{\partial A_z}{\partial t}\right]$
 $\underline{B} = \hat{e}_r \left[-\frac{\partial A_\theta}{\partial z}\right] + \hat{e}_\theta \left[\frac{\partial A_r}{\partial z} - \frac{\partial A_z}{\partial r}\right] + \hat{e}_z \left[\frac{1}{r}\frac{\partial(rA_\theta)}{\partial r}\right]$

To calculate the rate of change of the momentum p in cylindrical coordinates we must take into account that the unit vectors change directions as the particle moves:

 $\underline{p} = p_r \hat{e}_r + p_{\theta}^* \hat{e}_{\theta} + p_z \hat{e}_z = \gamma m \underline{v}$ where $p_r = \gamma m \dot{r}$ $p_{\theta}^* = \gamma m r \dot{\theta}$ $p_z = \gamma m \dot{z}$ So $\frac{dp}{dt} = \dot{p}_r \hat{e}_r + p_r \dot{\hat{e}}_r + \dot{p}_{\theta}^* \hat{e}_{\theta} + p_{\theta}^* \dot{\hat{e}}_{\theta} + p_{\theta}^* \dot{\hat{e}}_{\theta} + p_{\theta}^* \dot{\hat{e}}_{\theta} + p_z \hat{e}_z$ Note: on this page $p^*_{\theta} = \theta$ -component of mechanical momentum, not to be confused with $p_{\theta} \equiv \gamma m r^2 \dot{\theta} + q r A_{\theta} \equiv$ canonical angular momentum.

$$= (\dot{p}_r - p_{\theta}^* \dot{\theta})\hat{e}_r + (p_r \dot{\theta} + \dot{p}_{\theta}^*)\hat{e}_{\theta} + \dot{p}_z \hat{e}_z$$

where we have used:

$$\frac{d\hat{e}_r}{dt} = \hat{e}_{\theta}\dot{\theta} \qquad \qquad \frac{d\hat{e}_{\theta}}{dt} = -\hat{e}_r\dot{\theta}$$

$$\Rightarrow \frac{dp}{dt} = \left(\frac{d(\gamma m\dot{r})}{dt} - \gamma mr\dot{\theta}^{2}\right)\hat{e}_{r} + \left(\gamma m\dot{r}\dot{\theta} + \frac{d(\gamma mr\dot{\theta})}{dt}\right)\hat{e}_{\theta} + \frac{d(\gamma m\dot{z})}{dt}\hat{e}_{z}$$
Note: second term
$$= \frac{1}{r}\frac{d}{dt}\left(\gamma mr^{2}\dot{\theta}\right)$$

mechanical angular momentum



Conservation of Canonical Angular Momentum

Now the RHS of eq. II multiplied by r can be written:

$$qr(E_{\theta} + \dot{z}B_{r} - \dot{r}B_{z}) = q \left(-\frac{\partial rA_{\theta}}{\partial t} - \dot{z}\frac{\partial rA_{\theta}}{\partial z} - \dot{r}\frac{\partial rA_{\theta}}{\partial r} \right)$$
$$= -q \left[\frac{\partial}{\partial t} + \underline{v} \cdot \frac{\partial}{\partial \underline{x}} \right] (rA_{\theta})$$
$$= -q \frac{d(rA_{\theta})}{dt} \qquad (IV)$$

So eq. II and eq. IV =>

$$\frac{d}{dt}\left(\gamma mr^2\dot{\theta} + qrA_{\theta}\right) = 0$$

Define:

 $p_{\theta} \equiv \gamma m r^2 \dot{\theta} + q r A_{\theta} \equiv \text{canonical angular momentun}$

$$\Rightarrow \qquad \frac{dp_{\theta}}{dt} = 0$$

Note that the flux ψ enclosed by a circle of radius r about the origin is given by:

$$\psi = \int \underline{B} \cdot d\underline{S} = \int \underline{\nabla} \times \underline{A} \cdot d\underline{S} = \oint \underline{A} \cdot \underline{dl} = 2\pi r A_{\theta}$$

So $p_{\theta} = \gamma m r^2 \dot{\theta} + \frac{q\psi}{2\pi}$



d<u>S</u>=element of area spanning circle; d<u>l</u>= line element along circle "External" electric and magnetic field with azimuthal symmetry $(\partial/\partial\theta = 0)$ (cf. Reiser section 5.3)

Consider the field \underline{E}_{ext} and \underline{B}_{ext} created by external sources (time steady, vacuum fields):

$$\nabla \times \underline{B}_{ext} = 0 \qquad \nabla \times \underline{E}_{ext} = 0 \qquad (\Rightarrow \ E_{ext}, \ B_{ext} \ \sim \nabla \phi)$$

$$\nabla \cdot \underline{B}_{ext} = 0$$
 $\nabla \cdot \underline{E}_{ext} = 0$ $(\Rightarrow \nabla^2 \phi = 0)$

In cylindrical coordinates:

$$\nabla^{2}\phi = \frac{1}{r}\frac{\partial}{\partial r}\left(r\frac{\partial\phi}{\partial r}\right) + \left(\frac{\partial^{2}\phi}{\partial z^{2}}\right)$$
Let $\phi(r,z) = \sum_{\nu=0}^{\infty} f_{2\nu}(z)r^{2\nu} = f_{0}(z) + f_{2}(z)r^{2} + f_{4}r^{4} + ...$

$$\nabla^{2}\phi = 0 \implies \sum_{\nu=1}^{\infty} (2\nu)^{2}f_{2\nu}(z)r^{2\nu-2} + \sum_{\nu=0}^{\infty} f_{2\nu}''(z)r^{2\nu} = 0$$
Let $B_{z}(0,z) = B(z) = -f_{0}'(z)$ and let $\phi(0,z) = V(z) = f_{0}(z)$

$$B_{z}(r,z) = -\frac{\partial\phi(r,z)}{\partial z} = -f_{0}'(z) + \frac{1}{4}f_{0}'''(z)r^{2} - \frac{1}{64}f_{0}''''(z)r^{4} + ...$$

$$= B(z) - \frac{r^{2}}{4}\frac{d^{2}B(z)}{dz^{2}} + \frac{r^{4}}{64}\frac{d^{4}B(z)}{dz^{4}} + ...$$

$$B_{r}(r,z) = -\frac{\partial\phi(r,z)}{\partial r} = \frac{1}{2}f_{0}''(z)r - \frac{1}{16}f_{0}'''(z)r^{3} + ...$$

Similarly, for the electric field define

Let
$$\phi(0,z) = V(z) = f_0(z)$$

$$\begin{split} \phi(r,z) &= V(z) - \frac{r^2}{4} \frac{d^2 V(z)}{dz^2} + \frac{r^4}{64} \frac{d^4 V(z)}{dz^4} + \dots \\ E_r(r,z) &= -\frac{\partial \phi(r,z)}{\partial r} = \frac{1}{2} f_0''(z)r - \frac{1}{16} f_0'''(z)r^3 + \dots \\ &= \frac{r}{2} V_0''(z) + \frac{r^3}{16} \frac{d^4 V(z)}{dz^4} + \dots \\ E_z(r,z) &= -\frac{\partial \phi(r,z)}{\partial z} = -f_0'(z) + \frac{1}{4} f_0'''(z)r^2 - \frac{1}{64} f_0''''(z)r^4 + \dots \\ &= -V_0'(z) + \frac{r^2}{4} \frac{d^3 V(z)}{dz^3} - \frac{r^4}{64} \frac{d^5 V(z)}{dz^5} + \dots \end{split}$$

,

8

$$\frac{d}{dt}(\mathbf{Y}\mathbf{u}\mathbf{\dot{r}}) - \mathbf{Y}\mathbf{u}\mathbf{r}\dot{\mathbf{\theta}}^2 = q(\mathbf{E}_r + \mathbf{r}\dot{\mathbf{\theta}}\mathbf{B}_z - \dot{z}\mathbf{B}_\theta) \quad (\mathbf{I})$$

$$\frac{f_{0}r}{f_{0}r} \frac{f_{0}r}{f_{0}r} \frac{f_{0}r}{$$

for the self field use:

E_{r self} = non-zero (to be shown)

 $B_{z \text{ self}} = 0$ in paraxial approx. ($v_{\theta} B_{z \text{ self}} \sim (\omega_c r_b/c)^2 E_{r \text{ self}}$) $B_{\theta \text{ self}} = \text{non-zero}$ (to be shown)

<u>We let:</u>

 $\underline{\mathbf{B}} = \underline{\mathbf{B}}_{\text{ext}} + \underline{\mathbf{B}}_{\text{self}}$

 $\underline{E} = \underline{E}_{ext} + \underline{E}_{self}$

Paraxial ray equation:

$$\frac{d(\gamma m \dot{r})}{dt} - \gamma m r \dot{\theta}^{2} = q(E_{r} + r \dot{\theta}B_{z} - \dot{z}B_{\theta})$$

$$\stackrel{\text{Inertial}}{\underset{\text{Centrifugal}}{\text{Centrifugal}}} \cong q(\frac{V''}{2}r + r \dot{\theta}B(z)) + q(E_{r}^{self} + r \dot{\theta}B_{z}^{self} - \dot{z}B_{\theta}^{self})$$

$$\stackrel{E_{r}}{\underset{\text{external}}{\text{(from field gradient)}}} \stackrel{\text{op}}{\underset{\text{(solenoid)}}{\text{self-fields}}} = q(E_{r} + r \dot{\theta}B_{z} - \dot{z}B_{\theta}^{self})$$

Now use *s* as the independent variable: $v_z dt = ds$

$$v_z \frac{d(\gamma m v_z r')}{ds} - \gamma m v_z^2 r \theta'^2 = q(\frac{V''}{2}r + r v_z \theta' B(z)) + q(E_r^{self} - v_z B_{\theta}^{self})$$

Expanding 1st term, using $v_z = \tilde{v}$ and dividing by $\gamma m v^2$ $(=\gamma m \beta^2 c^2)$:

$$r'' - r\theta'^{2} + \frac{(\gamma\beta)'}{\gamma\beta}r' = \frac{q}{\gamma m\beta^{2}c^{2}}\left(\frac{V''}{2}r + r\beta c\theta'B + E_{r}^{self} - v_{z}B_{\theta}^{self}\right)$$
(PI)

Define $\omega_c \equiv qB/m$. Using definition of p_{θ} eliminate θ ' via:

$$\theta' = \frac{p_{\theta} - q\psi/(2\pi)}{\gamma m r^2 \beta c} = \frac{p_{\theta}}{\gamma m r^2 \beta c} - \frac{qB}{2\gamma m \beta c} = \frac{p_{\theta}}{\gamma m r^2 \beta c} - \frac{\omega_c}{2\gamma \beta c}$$

Adding the two θ ' terms in equation (PI):

$$-r\theta'^{2} - \frac{r\omega_{c}\theta'}{\gamma\beta c} = \frac{-p_{\theta}^{2}}{\gamma^{2}m^{2}\beta^{2}c^{2}r^{3}} + \frac{p_{\theta}\omega_{c}}{\gamma^{2}m\beta^{2}c^{2}r} - \frac{r\omega_{c}^{2}}{4\gamma^{2}\beta^{2}c^{2}}$$
$$-\frac{p_{\theta}\omega_{c}}{\gamma^{2}m\beta^{2}c^{2}r} + \frac{r\omega_{c}^{2}}{2\gamma^{2}\beta^{2}c^{2}}$$
$$= \frac{-p_{\theta}^{2}}{\gamma^{2}m^{2}\beta^{2}c^{2}r^{3}} + \frac{r\omega_{c}^{2}}{4\gamma^{2}\beta^{2}c^{2}}$$

So eq. P1 becomes:

$$r'' + \frac{(\gamma\beta)'}{\gamma\beta}r' = \frac{q}{\gamma m \beta^2 c^2} (\frac{V''}{2}r) - \frac{r\omega_c^2}{4\gamma^2 \beta^2 c^2} + \frac{p_{\theta}^2}{\gamma^2 m^2 \beta^2 c^2 r^3} + \frac{q}{\gamma m \beta^2 c^2} (E_r^{self} - v_z B_{\theta}^{self})$$
(P2)
Now

$$\frac{d\gamma mc^2}{dt} = q\underline{E} \cdot \underline{v} \implies \gamma' mc^2 = q\frac{\underline{E} \cdot \underline{v}}{v_z} \cong qE_z \qquad \text{so} \quad \gamma'' = -\frac{q}{mc^2} \left(V'' + \frac{\partial^2 \phi^{self}}{\partial z^2} \right)$$

How do we calculate $\frac{q}{\gamma m \beta^2 c^2} \left(\frac{V''}{2} r + E_r^{self} - v_z B_{\theta}^{self} \right)$?

$$\nabla^{2} \phi^{self} = -\frac{\rho}{\varepsilon_{0}} \implies \frac{1}{r} \frac{\partial}{\partial r} \left(r \frac{\partial \phi^{self}}{\partial r} \right) = -\frac{\rho}{\varepsilon_{0}} - \frac{\partial^{2} \phi^{self}}{\partial z^{2}}$$

$$\implies \frac{\partial}{\partial r} \left(r \frac{\partial \phi^{self}}{\partial r} \right) = -\frac{r\rho}{\varepsilon_{0}} - \frac{r\partial^{2} \phi^{self}}{\partial z^{2}}$$

$$r \frac{\partial \phi^{self}}{\partial r} = -\frac{1}{2\pi\varepsilon_{0}} \int_{0}^{r} 2\pi \tilde{r} \rho(\tilde{r}) d\tilde{r} - \int_{0}^{r} \frac{\tilde{r} \partial^{2} \phi^{self}}{\partial z^{2}} d\tilde{r}$$
(Here we have
$$= -\frac{\lambda(r)}{2\pi\varepsilon_{0}} - \frac{r^{2}}{2} \frac{\partial^{2} \phi^{self}}{\partial z^{2}} \iff \text{included only the lowest}$$
order term for
$$\frac{\partial^{2} \phi^{self}}{\partial z^{2}}$$

$$\implies E_{r}^{self} \cong \frac{\lambda(r)}{2\pi\varepsilon_{0}r} + \frac{r}{2} \frac{\partial^{2} \phi^{self}}{\partial z^{2}}$$

$$\underline{\nabla} \times \underline{B}^{self} = \mu_0 \underline{J} \implies 2\pi r B_{\theta}^{self} = \mu_0 \int_0^r 2\pi \tilde{r} J_z(\tilde{r}) d\tilde{r} = \mu_0 v_z \lambda(r)$$
$$B_{\theta}^{self} = \frac{\mu_0 v_z \lambda(r)}{2\pi r} = \frac{v_z}{c^2} \frac{\lambda(r)}{2\pi \varepsilon_0 r}$$

$$\begin{pmatrix} V'' \\ 2 \end{pmatrix} r + E_r^{self} - v_z B_{\theta}^{self} \end{pmatrix} = \frac{r}{2} \left(V'' + \frac{\partial^2 \phi^{self}}{\partial z^2} \right) + \left(1 - \frac{v_z^2}{c^2} \right) \frac{\lambda(r)}{2\pi\varepsilon_0 r}$$
$$= -\frac{\gamma'' mc^2}{2q} r + \frac{1}{\gamma^2} \frac{\lambda(r)}{2\pi\varepsilon_0 r}$$

Leading to the "Paraxial Ray Equation:"



which together with the conservation of canonical angular momentum, $m\omega_c r^2$

$$p_{\theta} = \gamma \beta m c r^2 \theta' + \frac{m \omega_c r}{2}$$

and initial conditions, specifies the orbit a particle an axisymmetric field.

J. BANDAND MOMENT EQUATIONS Vlasov eqt: $\frac{\partial f}{\partial x} + x' \frac{\partial f}{\partial x} + x'' \frac{\partial f}{\partial x'} + y' \frac{\partial f}{\partial y} + y'' \frac{\partial f}{\partial y'} = 0$ Let $q = q(x_1x', y_1y')$; $N = \iiint f dx dx' dy dy'$ MULTIVLY VLAION equation by 9 & HSSSSdxdx'dydyl $\int dx dx' dy \left[9 \frac{\partial f}{\partial s} + 9x' \frac{\partial f}{\partial x} + 9x'' \frac{\partial f}{\partial x} + 9y' \frac{\partial f}{\partial y} + 9y'' \frac{\partial f}{\partial y} \right] = 0$ Ballallanal Chand $= \frac{1}{2} \frac{$ = 0 $\frac{1}{\sqrt{2}} = \frac{1}{\sqrt{2}}$ $\Rightarrow \exists \langle \partial A \rangle = \langle X, \partial A \rangle + \langle X, \partial A \rangle + \langle A, \partial A \rangle + \langle A \rangle +$ $\overline{B}_{0} + \frac{dq}{Jc} = \frac{\partial q}{\partial \chi} \chi' + \frac{\partial q}{\partial \xi} \chi'' + \frac{\partial q}{\partial q} \chi' + \frac{\partial q}{\partial q} \chi''$ $= \frac{1}{2i} < g > = < g' >$ So $\frac{1}{3s} < x^2$ = 2< x x') $\frac{d}{dx} < x^{12} > = 2 < x^{1} x^{12} > \frac{d}{dx}$ $\frac{d}{ds} < xx' > = < xx'' > + < x'' >$

ENVELOPE EQUATION FOR AXISYMMETRIC BEAMS
LET
$$V_{b}^{2} = 2 < v^{2}$$
) = $2() = $4 < x^{2}$)
for an axisymmetric beam
 $2V_{b}V_{b}' = 4 < v^{1}$) $\Rightarrow V_{b}' = \frac{2 < v^{1}}{V_{b}}$
 $V_{b}'' = \frac{2 < v^{1}}{V_{b}} + \frac{2 < v^{12}}{V_{b}} - \frac{2 < v^{1}}{V_{b}} (\frac{2 < v^{1}}{V_{b}})$
 $= 2 < v^{1} + \frac{4 < v^{2} > v^{2}}{V_{b}} + \frac{4 < v^{2} > v^{2}}{V_{b}^{2}}$
WHAT IN $< v^{1}$?$

$$\frac{1}{\sqrt{1-v}} = \frac{1}{\sqrt{1-v}} \frac$$

$$\begin{aligned} \left\| \int_{0}^{\infty} \left\| \frac{1}{p_{e}^{2}} \right\|_{2}^{2} \left\| \frac{rr^{1}}{r} \right\|_{2}^{2} + \frac{r^{1}}{2k_{e}^{2}} \left\| \frac{rr^{2}}{r_{e}^{2}} - \frac{rr^{2}}{2k_{e}^{2}} + \frac{rr^{2}}{r_{e}^{2}} + \frac{rr^{2}}{2k_{e}^{2}} + \frac{rr^{2}}{2k_{e}^{2}} + \frac{rr^{2}}{r_{e}^{2}} + \frac{rr^{2}}{r$$

$$\frac{1}{V_{0}} = \frac{V_{0}}{V_{0}} + \frac{V_{0}}{2\sqrt{r}} + \frac{V_{0}}{2\sqrt{r}$$

Shar |

EXAMPLES OF

SYSTEMS WITH AXIAL SYMMETRY

- PERIODIC SOLENDIDS

(17)

- EINZEL LENSES

- CONTINUOUS FOCUSING

EXAMILES OF

SYSTEMS WITHOUT AXIAL SYMMETRY

- ELECTRIC ON MAGNETIC QUANKULOLE

=) USE CALTERIAN COOKNINHTES WITH ELLITTICAL STATE CHANGE SYMMETRY

States Construction Constructio



successive coils are spaced by S and have the same current polarity $+I_1, +I_1, \cdots$ In Fig. 3.2 (b), successive coils are spaced by S/2 and have alternating current polarities $+I_1, -I_1, +I_1, \cdots$

INTENSE LANKUE MALTICLE HEAMS IN HIGH ENELLY ACCELEXATORS

(19)



21

Figure 3.1. Schematic of magnet sets producing an alternatinggradient quadrupole field with axial periodicity length S.

S



Figure 3.3. Schematic of conductor configuration with applied voltages producing an alternating-gradient quadrupole electric field with axial periodicity length S.



Figure 3.7. Alternating step-function model of a periodic quadrupole lattice with filling factor η for the lens elements. The figure shows a plot of the quadrupole coupling coefficient $\kappa_q(s)$ versus s for one full period (S) of the lattice. Such a configuration is often called a FODO transport lattice (acronym for focusing-off-

defocusing-off).

FIGURES FROM DANIDSON & QIN 2003

21



Figure 3.15. Electrodes and force lines in an electrostatic quadrupole.







EVUELOIE EQUATIONS FOR NON-AXISYMMETRY SYSTEM(

$$\begin{aligned}
& f_{x}^{z} = 4 < x^{z} > & f_{y}^{z} = 4 < q^{z} > \\
& zv_{x}v_{x}' = 8 < xx' > \\
& v_{x}' = \frac{4 < xx'' >}{v_{x}} + \frac{4 < x'^{2} >}{r_{x}} - \frac{4 < xx' >}{r_{x}^{2}} \\
& = \frac{4 < xx'' >}{r_{x}} + \frac{16 < x'^{2} > (x^{2} > x^{2} > x^{2} > x^{2} > x^{2})}{r_{x}^{3}} - \frac{16 < xx' >^{2}}{r_{x}^{3}} \\
& = \frac{4 < xx'' >}{r_{x}} + \frac{16 < x'^{2} > (x^{2} > x^{2} > x^{2} > x^{2} > x^{2} > x^{2})}{r_{x}^{3}} - \frac{16 < xx' >^{2}}{r_{x}^{3}} \\
& DEFINE \quad E_{x}^{z} = IG(x^{z} > - (x^{z})^{2}) \\
& \Rightarrow \begin{bmatrix} v_{x}^{u} = \frac{4 < xx'' >}{v_{x}} + \frac{E_{x}^{u}}{v_{y}^{2}} \end{bmatrix} \\
& So How Do we chuculate < xx'' > ? \\
& REPULN TO SINGLE IALTICLE EQUATION (IN CANTESIAN CONDINATES) \\
& d (Y_{x}u) = 3wx + Yux' = q(Ex + y^{2}z - z^{2}b_{y}) \\
& d \\
& d \\
& x^{u} \qquad QUADAUJOLE FOCUSING \\
& esimilarly \qquad STALE - CHARGE OF EULIVITICAL \\
& y^{u} \qquad german. \end{aligned}$$

TO BE CONTINUED ...

$$I = \frac{1}{2} \qquad J. definished
QUADAUTOLE FOCUSING
Now, relax radial symmetry:
FOR $\nabla.6=0$ o $\nabla xB=0$
EXTAND FIELD IN CALINAMICAL "MULTIPOLES":
 $E_{r,B_{r}} = \sum_{n=1}^{\infty} f_{n} r^{n-1} con(n0)$
 $H_{r=1}$
 $E_{r,B_{r}} = \sum_{n=1}^{\infty} f_{n} r^{n-1} con(n0)$
 $H_{r=1}$
 $E_{r,B_{r}} = \sum_{n=1}^{\infty} f_{n} r^{n-1} con(n0)$
 $H_{r=1}$
 $H_{r=1} = 2iyole$
 $E_{r} = f_{r} con0 = E_{r} = f_{r}$
 $h_{r=1} = 2iyole$
 $E_{r} = f_{r} r sin20 = E_{r} = f_{r}$
 $h_{r=1} = 2iyole$
 $E_{r} = f_{r} r sin20 = E_{r} = f_{r}$
 $h_{r=1} = 2iyole$
 $E_{r} = f_{r} r sin20 = E_{r} = f_{r}$
Note: Asous expansion is value interval $E_{r} = 0$
Note: Asous expansion is related mountiple to the full function(2).
FOR MINGAUET OF FIDITE AXIAL EXTERT, for EACH FULLY function(2).
For emandation of FIDITE AXIAL EXTERT, for EACH FULLY function(2).
For emandation of FIDITE AXIAL EXTERT, for EACH FULLY function(2).
For emandation of FIDITE AXIAL EXTERT, for EACH FULLY function(4).
For emandation of FIDITE AXIAL EXTERT, for EACH FULLY function(4).
For emandation of FIDITE AXIAL EXTERT, for EACH FULLY function(4).
For emandation of FIDITE AXIAL EXTERT, for EACH FULLY function(4).
For emandation of FIDITE AXIAL EXTERT (FREE FIELD MAN, for extramplication of the field function of the f$$